

# APPLICATION OF THE (G'/G)-EXPANSION METHOD FOR TWO NONLINEAR EVOLUTION EQUATIONS

#### H. Kheiri\* & A. Jabbari

Faculty of Mathematical Sciences, University of Tabriz, Tabriz - Iran

Received: 15th January 2016, Accepted: 12th February 2016

**Abstract:** In this paper, the (G'/G)-expansion method is applied to seek traveling wave solutions of two nonlinear evolution equations. This traveling wave solutions are expressed by the hyperbolic functions, the trigonometric functions and the rational functions. It is shown that the proposed method is direct, effective and can be used for many other nonlinear evolution equations in mathematical physics.

PACS: 02.30.Jr; 05.45.Yv

**Keywords:** (G'/G)-expansion Method, Kuramoto-Sivashinsky Equation, Benjamin-Bona-Mahony Equation, Travelling Wave Solutions

## 1. INTRODUCTION

The investigation of the travelling wave solutions for nonlinear partial differential equations plays an important role in the study of nonlinear physical phenomena. Nonlinear wave phenomena appears in various scientific and engineering fields, such as fluid mechanics, plasma physics, optical fibers, biology, solid state physics, chemical kinematics, chemical physics and geochemistry. Nonlinear wave phenomena of dispersion, dissipation, diffusion, reaction and convection are very important in nonlinear wave equations. In the past several decades, new exact solutions have helped to find new phenomena. A variety of powerful methods, such as inverse scattering method [1], the tanh-sech method [2-4], extended tanh method [5-7], sinecosine method [8, 9], homogeneous balance method [10], Exp-function method [11, 12], improved tanh-function method[13] and modified tanh-coth method [14, 15] have been used to develop nonlinear dispersive and dissipative problems. Recently, Wang et al. [16] proposed the (G'/G)-expansion method and showed that it is powerful for finding analytic solutions of PDEs. Next, Bekir [17] applied the method to some nonlinear evolution equations gaining traveling wave solutions. Later, Zhang et al. [18] further extended the method to solve an evolution equation with variable coefficients. In this paper we apply the (G'/G)-expansion method to the Kuramoto-Sivashinsky (KS) and The Benjamin-Bona-Mahony (BBM) equations.

\*Corresponding Author: h-kheiri@tabrizu.ac.ir, n\_jabbari302@yahoo.com

The KS equation describes the fluctuations of the position of a flame front, the motion of a fluid going down a vertical wall, or a spatially uniform oscillating chemical reaction in a homogeneous medium [19]. This equation was examined as a prototypical example of spatiotemporal chaos in one space dimension [20]. Moreover, this equation was originally derived in the context of plasma instabilities, flame front propagation, and phase turbulence in reaction diffusion system [20]. The BBM equation, was first proposed in 1972 by Benjamin et al [21]. This equation is an alternative to the Kortewegde Vries (KdV) equation, and describes the unidirectional propagation of small-amplitude long waves on the surface of water in a channel. The BBM equation is not only convenient for shallow water waves but also for hydromagnetic and acoustic waves, and therefore it has some advantages compared to the KdV equation.

## 2. DESCRIPTION OF THE (G'/G)-EXPANSION METHOD

We suppose that the given nonlinear partial differential equation for u(x, t) is in the form

$$P(u, u_x, u_x, u_{xx}, u_{xx}, u_{xx}, \dots) = 0, (1)$$

Where P is a polynomial in its arguments. The essence of the (G'/G)-expansion method can be presented in the following steps:

**Step 1:** Seek traveling wave solutions of Eq. (1) by taking  $u(x,t) = U(\xi), \xi = x - ct$ , and transform Eq. (1) to the ordinary differential equation

$$Q(U,U',U'',...) = 0, (2)$$

Where prime denotes the derivative with respect to  $\xi$ .

**Step 2:** If possible, integrate Eq. (2) term by term one or more times. If possible this yields constant(s) of integration. For simplicity, the integration constant(s) can be set to zero.

**Step 3:** Introduce the solution  $U(\xi)$  of Eq. (2) in the finite series form

$$U(\xi) = \sum_{i=0}^{N} a_{i} \left( \frac{G'(\xi)}{G(\xi)} \right)^{i}, \tag{3}$$

Where  $a_i$  are real constants with  $a_N \neq 0$  to be determined, N is a positive integer to be determined. The function  $G(\xi)$  is the solution of the auxiliary linear ordinary differential equation

$$G''(\xi) + \lambda G'(\xi) + \mu G(\xi) = 0, \tag{4}$$

Where  $\lambda$  and  $\mu$  are real constants to be determined.

**Step 4:** Determine N. This, usually, can be accomplished by balancing the linear term (s) of highest order with the highest order nonlinear term(s) in Eq. (2).

**Step 5:** Substituting (3) and (4) into Eq. (2) yields an algebraic equation involving powers of (G'/G). Equating the coefficients of each power of (G'/G) to zero gives a system of algebraic equations for  $a_i$ ,  $\lambda$ ,  $\mu$  and c. Then, we solve the system with the aid of a computer algebra system, such as Maple, to determine these constants. On the other hand, depending on the sign of the discriminate  $= 2 - 4\mu$  the solutions of Eq. (4) are well known to us. Then, as a final step, we can obtain exact solutions of the given Eq. (1).

## 3. APPLICATIONS

In this section, we will apply the (G/G)-expansion method on two of the well-known non-linear evolution equations, namely, the (KS) and (BBM) equations.

## 3.1. The Kuramoto-Sivashinsky Equation

We consider the KS equation

$$u_t + auu_x + bu_{xx} + ku_{xxxx} = 0, (5)$$

where a, b and k are nonzero real constants. Make the transformation  $u(x,t) = U(\xi), \xi = x - ct$ , where c is constant. Integrating once with respect to  $\xi$ , Eq. (5) becomes

$$-cU + \frac{a}{2}U^2 + bU' + kU''' = 0, (6)$$

where prime denote the derivative with respect to  $\xi$ . Now, we make an ansatz (3) for the solution of Eq. (6). Balancing the highest order derivative term U'' with the highest power nonlinear term  $U^2$ , yields the leading order N=3. Therefore, we can write the solution of Eq. (6) in the form

$$U(\xi) = a_0 + a_1 \left(\frac{G'}{G}\right) + a_2 \left(\frac{G'}{G}\right)^2 + a_3 \left(\frac{G'}{G}\right)^3, \ a_3 \neq 0$$
 (7)

By using (4) and (7) we derive that

$$U^{2}(\xi) = a_{3}^{2} \left(\frac{G'}{G}\right)^{6} + 2a_{2}a_{3} \left(\frac{G'}{G}\right)^{5} + (2a_{1}a_{3} + a_{2}^{2})\left(\frac{G'}{G}\right)^{4} + (2a_{3}a_{0} + 2a_{1}a_{2})\left(\frac{G'}{G}\right)^{3} + (a_{1}^{2} + 2a_{2}a_{0})\left(\frac{G'}{G}\right)^{2} + 2a_{1}a_{0}\left(\frac{G'}{G}\right) + a_{0}^{2}, \quad (8)$$

$$U'(\xi) = -3a_{3} \left(\frac{G'}{G}\right)^{4} - (2a_{2} + 3a_{3}\lambda)\left(\frac{G'}{G}\right)^{3} - (a_{1} + 2a_{2}\lambda + 3a_{3}\mu)\left(\frac{G'}{G}\right)^{2} - (a_{1}\lambda + 2a_{2}\mu)\left(\frac{G'}{G}\right) - a_{1}\mu, \quad (9)$$

$$U'''(\xi) = -60a_3(\frac{G'}{G})^6 - (24a_2 + 144a_3\lambda)(\frac{G'}{G})^5 + \dots$$
$$-(a_1\lambda^2\mu + 6a_2\mu^2\lambda + 2_{a_1}\mu_2 + 6a_3\mu^3), (10)$$

Substituting (7)-(10) into (6), setting coefficients of  $(\frac{G'}{G})^i$  (i = 0,1,...,6) to zero, we obtain the following under-determined system of algebraic equations for  $a_0, a_1, a_2, a_3, c, \lambda$  and  $\mu$ :

$$\left(\frac{G'}{G}\right)^{0}:-ca_{0}+\frac{1}{2}aa_{0}^{2}-ka_{1}\lambda^{2}\mu-6ka_{2}\mu^{2}\lambda-ba_{1}\mu-2ka_{1}\mu^{2}-6ka_{3}\mu^{3}=0,$$

$$\left(\frac{G'}{G}\right)^{1}:-ca_{1}+aa_{1}a_{0}-ba_{1}\lambda-2ba_{2}\mu-ka_{1}\lambda^{3}-16ka_{2}\mu^{2}-8ka_{1}\lambda\mu-14ka_{2}\lambda^{2}\mu-36ka_{3}\lambda\mu^{2}=0,$$

$$(\frac{G'}{G})^2: -ca_2 + \frac{1}{2}aa_1^2 - ba_1 + aa_2a_0 - 2ba_2\lambda - 3ba_3\mu - 7ka_1\lambda^2 - 8ka_1\mu - 8ka_2\lambda^3$$

$$-52ka_2\lambda\mu - 60ka_3\mu^2 - 57ka_3\lambda^2\mu = 0,$$

$$(\frac{G'}{G})^3: -ca_3 + 2ba_2 + aa_3a_0 + aa_1a_2 - 3ba_3\lambda - 38ka_2\lambda^2 - 40ka_2\mu - 27ka_3\lambda^3 - 12ka_1\lambda$$

$$-168ka_3\lambda\mu = 0,$$

$$(\frac{G'}{G})^4: \frac{1}{2}aa_2^2 - 3ba_3 - 6ka_1 + aa_1a_3 - 111ka_3\lambda^2 - 114ka_3\mu - 54ka_2\lambda = 0,$$

$$(\frac{G'}{G})^5: -24ka_2 + aa_2a_3 - 114ka_3\lambda = 0,$$

$$(\frac{G'}{G})^6: \frac{1}{2}aa_3^2 - 60ka_3 = 0,$$

Solving this system by Maple, gives first solution set:

$$a_0 = \pm \frac{30b}{19a} \sqrt{\frac{-b}{19k}}, \quad a_1 = \frac{90b}{19a}, \quad a_2 = 0, \quad a_3 = \frac{120k}{a}$$

$$c = \pm \frac{30b}{19} \sqrt{\frac{-b}{19k}}, \quad \lambda = 0, \quad \mu = \frac{b}{76k}, \quad \frac{b}{k} < 0, \quad (11)$$

second solution set:

$$a_0 = \pm \frac{30b}{19a} \sqrt{\frac{11}{19k}}, \ a_1 = \frac{-270b}{19a}, \ a_2 = 0, \ a_3 = \frac{120k}{a},$$

$$c = \pm \frac{30b}{19} \sqrt{\frac{11b}{19k}}, \ \lambda = 0, \ \mu = \frac{-11b}{76k}, \ \frac{b}{k} > 0, \ (12)$$

where  $\lambda$  and  $\mu$  are arbitrary constants. Substituting Eq. (11) and Eq. (12) into Eq. (7) yields

$$u(\xi) = \pm \frac{30b}{19a} \sqrt{\frac{-b}{19a}} + \frac{90b}{19a} (\frac{G'}{G}) + \frac{120k}{a} (\frac{G'}{G})^3, \tag{13}$$

where  $\xi = x - (\pm \frac{30b}{19} \sqrt{\frac{-b}{19k}})t$ , and

$$u(\xi) = \pm \frac{30b}{19a} \sqrt{\frac{11b}{19k}} - \frac{270b}{19a} (\frac{G'}{G}) + \frac{120k}{a} (\frac{G'}{G})^3, \tag{14}$$

where 
$$\xi = x - (\pm \frac{30b}{19} \sqrt{\frac{11b}{19k}})t$$
.

Substituting general solutions of Eq. (4) into (13) and (14) we have three types of traveling wave solutions of the KS equation as follows:

When  $\lambda^2 - 4\mu > 0$ ,

$$u_{1}(\xi) = \pm \frac{30b}{19a} \sqrt{\frac{-b}{19a}} - \frac{45b\lambda}{19a} - \frac{15k\lambda^{3}}{a}$$

$$+ (\frac{45b}{19a} + \frac{45k\lambda^{2}}{a}) \sqrt{\lambda^{2} - 4\mu} (\frac{c_{1}\sinh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2}\cosh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi}{c_{1}\cosh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2}\sinh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi})$$

$$+ (\frac{180k\lambda\mu}{a} - \frac{45k\lambda^{3}}{a}) (\frac{c_{1}\sinh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2}\cosh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi}{c_{1}\cosh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2}\sinh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi})^{2}$$

$$+ (\frac{15k\lambda^{2}}{a} - \frac{60k\mu}{a}) \sqrt{\lambda^{2} - 4\mu} (\frac{c_{1}\sinh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2}\cosh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi}{c_{1}\cosh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2}\sinh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi})^{3}, (15)$$

where  $\xi = x - (\pm \frac{30b}{19} \sqrt{\frac{-b}{19k}})t$ .

$$u_{2}(\xi) = \pm \frac{30b}{19a} \sqrt{\frac{11b}{19k}} + \frac{135b\lambda}{19a} - \frac{15k\lambda^{3}}{a}$$

$$+ (\frac{45k\lambda^{2}}{a} - \frac{135b}{19a}) \sqrt{\lambda^{2} - 4\mu} (\frac{c_{1}\sinh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2}\cosh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi}{c_{1}\cosh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2}\sinh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi})$$

$$+ (\frac{180k\lambda\mu}{a} - \frac{45k\lambda^{3}}{a}) (\frac{c_{1}\sinh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2}\cosh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi}{c_{1}\cosh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2}\sinh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi})^{2}$$

$$+ (\frac{15k\lambda^{2}}{a} - \frac{60k\mu}{a}) \sqrt{\lambda^{2} - 4\mu} (\frac{c_{1}\sinh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2}\cosh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi}{c_{1}\cosh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2}\sinh\frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi})^{3}, (16)$$

where,  $\xi = x - (\pm \frac{30b}{19} \sqrt{\frac{11b}{19k}})t$ .

When  $\lambda^2 - 4\mu < 0$ ,

$$u_{3}(\xi) = \pm \frac{30b}{19a} \sqrt{\frac{-b}{19a}} - \frac{45b\lambda}{19a} - \frac{15k\lambda^{3}}{a}$$

$$+ (\frac{45b}{19a} + \frac{45k\lambda^{2}}{a}) \sqrt{4\mu - \lambda^{2}} (\frac{-c_{1} \sin \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi + c_{2} \cos \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi}{c_{1} \cos \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi + c_{2} \sin \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi})$$

$$+ (\frac{180k\lambda\mu}{a} - \frac{45k\lambda^{3}}{a}) (\frac{-c_{1} \sin \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi + c_{2} \cos \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi}{c_{1} \cos \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi + c_{2} \sin \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi})^{2}$$

$$+ (\frac{45k\lambda^{2}}{a} - \frac{60k\mu}{a}) \sqrt{4\mu - \lambda^{2}} (\frac{-c_{1} \sin \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi + c_{2} \cos \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi}{c_{1} \cos \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi + c_{2} \sin \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi})^{3}, (17)$$

where 
$$\xi = x - (\pm \frac{30b}{19} \sqrt{\frac{-b}{19k}})t$$
. 
$$u_4(\xi) = \pm \frac{30b}{19a} \sqrt{\frac{11b}{19k}} + \frac{45b\lambda}{a} - \frac{15k\lambda^3}{a} + (\frac{45k\lambda^2}{a} - \frac{135b}{19a})\sqrt{4\mu - \lambda^2} (\frac{-c_1 \sin \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi + c_2 \cos \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi}{c_1 \cos \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi + c_2 \sin \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi}) + (\frac{180k\lambda\mu}{a} - \frac{45k\lambda^3}{a})(\frac{-c_1 \sin \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi + c_2 \cos \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi}{c_1 \cos \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi + c_2 \sin \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi})^2 + (\frac{15k\lambda^2}{a} - \frac{60k\mu}{a})\sqrt{4\mu - \lambda^2} (\frac{-c_1 \sin \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi + c_2 \cos \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi}{c_1 \cos \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi})^3, \quad (18)$$
 where  $\xi = x - (\pm \frac{30b}{19} \sqrt{\frac{11b}{19k}})t$ .

19 V 19k

When  $\lambda^2 - 4\mu = 0$ 

$$u_5(\xi) = -\frac{15}{361} \frac{K(\xi)}{a(c_1 + c_2 \xi)^3},\tag{19}$$

Where

$$\begin{split} K(\xi) &= \mp 2b\sqrt{\frac{-19b}{k}}c_1 \mp 6b\sqrt{\frac{19b}{k}}c_1^2c_2\xi \mp 6b\sqrt{\frac{-19b}{k}}c_1c_2^2\xi^2 \mp 2b\sqrt{\frac{-19b}{k}}c_2^3\xi^3 + 57b\lambda c_1^3 \\ &+ 171b\lambda c_1^2c_2\xi + 171b\lambda c_1c_2^2\xi^2 - 114bc_2c_1^2 - 228bc_2^2c_1\xi - 114bc_2^3\xi^2 + 57bc_2^3\lambda\xi^3 \\ &+ 361k\lambda^3c_1^3 - 2166k\lambda^2c_1^2c_2 + 1083k\lambda^3c_1^2c_2\xi + 4332k\lambda c_1c_2^2 - 4332k\lambda^2c_1c_2^2\xi \\ &+ 1083k\lambda^3c_1c_2^2\xi^2 - 2888kc_2^3 + 4332kc_2^3\lambda\xi - 2166kc_2^3\lambda^2\xi^2 + 361kc_2^3\lambda^3\xi^3 \,, \end{split}$$

where 
$$\xi = x - (\pm \frac{30b}{19} \sqrt{\frac{-b}{19k}})t$$
. And
$$u_6(\xi) = -\frac{15}{361} \frac{L(\xi)}{a(c_1 + c_2 \xi)^3},$$
(20)

Where

$$\begin{split} L(\xi) = \mp 2b\sqrt{\frac{209b}{k}}c_1^3 \mp 6b\sqrt{\frac{209b}{k}}c_1^2c_2\xi \mp 6b\sqrt{\frac{209b}{k}}c_1c_2^2\xi^2 \mp 2b\sqrt{\frac{209b}{k}}c_2^3\xi^3 - 171b\lambda c_1^3 \\ -513b\lambda c_1^2c_2\xi - 513b\lambda c_1c_2^2\xi^2 + 342bc_2c_1^2 + 684bc_2^2c_1\xi + 342bc_2^3\xi^2 - 171bc_2^3\lambda\xi^3 \\ +361k\lambda^3c_1^3 - 2166k\lambda^2c_1^2c_2 + 1083k\lambda^3c_1^2c_2\xi + 4332k\lambda c_1c_2^2 - 4332k\lambda^2c_1c_2^2\xi \\ +1083k\lambda^3c_1c_2^2\xi^2 - 2888kc_2^3 + 4332kc_2^3\lambda\xi - 2166kc_2^3\lambda^2\xi^2 + 361kc_2^3\lambda^3\xi^3, \end{split}$$

Where 
$$\xi = x - (\pm \frac{30b}{19} \sqrt{\frac{11b}{19k}})t$$
, and  $c_1$  and  $c_2$  are arbitrary constants.

Comparing our results with Wazzan [15], Peng [22] and Wazwaz's results [23] show that our results are more general.

In particular, if,  $c_1 \neq 0$ ,  $c_2 = 0$ ,  $\lambda = 0$ ,  $\mu < 0$  then  $u_1$  becomes

$$u_{1}(\xi) = \pm \frac{30b}{19a} \sqrt{\frac{-b}{19a}} + \frac{45b}{19a} \sqrt{\frac{-b}{19a}} \tanh(\frac{1}{2} \sqrt{\frac{-b}{19a}} \xi) - \frac{15b}{19a} \sqrt{\frac{-b}{19a}} \tanh^{3}(\frac{1}{2} \sqrt{\frac{-b}{19a}} \xi), \tag{21}$$

where 
$$\xi = x - (\pm \frac{30b}{19} \sqrt{\frac{-b}{19k}} t)$$
, and  $u_2$  becomes

$$u_{2}(\xi) = \pm \frac{30b}{19a} \sqrt{\frac{11b}{19k}} - \frac{135b}{19a} \sqrt{\frac{11b}{19k}} \tanh(\frac{1}{2}\sqrt{\frac{11b}{19k}}\xi) + \frac{165b}{19a} \sqrt{\frac{11b}{19k}} \tanh^{3}(\frac{1}{2}\sqrt{\frac{11b}{19k}}\xi), \tag{22}$$

where 
$$\xi = x - (\pm \frac{30b}{19} \sqrt{\frac{11b}{19k}})t$$
,

Which are the solutions of the KS equation. The solutions (21) and (22) are the same as Eq. (16) and Eq. (19) respectively [23]. Therefore the solutions in [23] are only a special case of the our solutions.

### 3.2. The Benjamin-Bona-Mahony Equation (BBM)

We consider the BBM equation

$$u_{t} + au_{x} + uu_{x} + bu_{xxt} = 0, (23)$$

Where a and b are nonzero real constants. Making the transformation  $u(x,t) = U(\xi)$ ,  $\xi = x - ct$  and integrating once with respect to  $\xi$ , Eq. (23) becomes

$$(a-c)U + \frac{1}{2}U^2 - bcU'' = 0, (24)$$

Where prime denote the derivative with respect to  $\xi$ . Balancing the highest derivative term U'' with the highest power nonlinear term  $U^2$  gives the leading order N=2. Therefore, we can write the solution of Eq. (24) in the form

$$U(\xi) = a_0 + a_1(\frac{G'}{G}) + a_2(\frac{G'}{G})^2, \ a_2 \neq 0.$$
 (25)

By using (4) and substituting (25) into Eq. (24) and setting the coefficients of  $(\frac{G'}{G})^i$  (i = 0,1,...,6) to zero, we obtain the following under-determined system of algebraic equations for  $a_0, a_1, a_2, c, \lambda$  and  $\mu$ :

$$\begin{split} &(\frac{G'}{G})^0: aa_0-ca_0+\frac{1}{2}{a_0}^2-bca_1\lambda\mu-2bca_2\mu^2=0\,,\\ &(\frac{G'}{G})^1: aa_1-ca_1+a_1a_0-bca_1\lambda^2-2bca_1\mu-6bca_2\lambda\mu=0\,, \end{split}$$

$$(\frac{G'}{G})^2 : aa_2 - ca_2 + a_2a_0 + \frac{1}{2}a_1^2 - 3bca_1\lambda - 4bca_2\lambda^2 - 8bca_2\mu = 0,$$

$$(\frac{G'}{G})^3 : a_1a_2 - 2bca_1 - 10bca_2\lambda = 0,$$

$$(\frac{G'}{G})^4 : \frac{1}{2}a_2^2 - 6bca_2 = 0.$$

Solving this system by Maple, gives first solution set:

$$a_0 = \frac{12ba\mu}{1 + b(\lambda^2 - 4\mu)}, \quad a_1 = \frac{12ba\lambda}{1 + b(\lambda^2 - 4\mu)}, \quad a_2 = \frac{12ba}{1 + b(\lambda^2 - 4\mu)}, \quad c = \frac{a}{1 + b(\lambda^2 - 4\mu)}, \quad (26)$$

Second solution set

$$a_0 = \frac{-2ba(\lambda^2 + 2\mu)}{-1 + b(\lambda^2 - 4\mu)}, \ a_1 = \frac{-12ba\lambda}{-1 + b(\lambda^2 - 4\mu)}, \ a_2 = \frac{-12ba}{-1 + b(\lambda^2 - 4\mu)}, \ c = \frac{-a}{-1 + b(\lambda^2 - 4\mu)}, (27)$$

Where  $\lambda$  and  $\mu$  are arbitrary constants. Substituting Eq. (26) and Eq. (27) into Eq. (25) yields

$$u(\xi) = \frac{12ba\mu}{1 + b(\lambda^2 - 4\mu)} + \frac{12ba\lambda}{1 + b(\lambda^2 - 4\mu)} \left(\frac{G'}{G}\right) + \frac{12ba}{1 + b(\lambda^2 - 4\mu)} \left(\frac{G'}{G}\right)^2,\tag{28}$$

where 
$$\xi = x - \frac{a}{1 + b(\lambda^2 - 4\mu)}t$$
. And
$$u(\xi) = -\frac{2ba(\lambda^2 + 2\mu)}{-1 + b(\lambda^2 - 4\mu)} - \frac{12ba\lambda}{-1 + b(\lambda^2 - 4\mu)} \left(\frac{G'}{G}\right) - \frac{12ba}{-1 + b(\lambda^2 - 4\mu)} \left(\frac{G'}{G}\right)^2, \quad (29)$$

where 
$$\xi = x + \frac{a}{-1 + b(\lambda^2 - 4\mu)}t$$
.

Substituting general solutions of Eq. (4) into (28) and (29) we have three types of traveling wave solutions of the BBM equation as follows:

When  $\lambda^2 - 4\mu > 0$ 

$$u_{1}(\xi) = \frac{3ba(\lambda^{2} - 4\mu)}{1 + b(\lambda^{2} - 4\mu)} + \frac{3ba(\lambda^{2} - 4\mu)}{1 + b(\lambda^{2} - 4\mu)} \left(\frac{c_{1} \sinh \frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2} \cosh \frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi}{c_{1} \cosh \frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2} \sinh \frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi}\right)^{2}, (30)$$

where 
$$\xi = x - (\frac{a}{1 + b(\lambda^2 - 4\mu)})t$$
.

$$u_{2}(\xi) = \frac{ba(\lambda^{2} - 4\mu)}{-1 + b(\lambda^{2} - 4\mu)} - \frac{3ba(\lambda^{2} - 4\mu)}{-1 + b(\lambda^{2} - 4\mu)} \left(\frac{c_{1} \sinh \frac{1}{2} \sqrt{\lambda^{2} - 4\mu} \xi + c_{2} \cosh \frac{1}{2} \sqrt{\lambda^{2} - 4\mu} \xi}{c_{1} \cosh \frac{1}{2} \sqrt{\lambda^{2} - 4\mu} \xi + c_{2} \sinh \frac{1}{2} \sqrt{\lambda^{2} - 4\mu} \xi}\right)^{2}, (31)$$

where 
$$\xi = x + (\frac{a}{-1 + b(\lambda^2 - 4\mu)})t$$
.  
When  $\lambda^2 - 4\mu < 0$ .

$$u_{3}(\xi) = -\frac{3ba(4\mu - \lambda^{2})}{1 + b(4\mu - \lambda^{2})} + \frac{3ba(4\mu - \lambda^{2})}{1 + b(4\mu - \lambda^{2})} \left( \frac{-c_{1}\sin\frac{1}{2}\sqrt{4\mu - \lambda^{2}}\xi + c_{2}\cos\frac{1}{2}\sqrt{4\mu - \lambda^{2}}\xi}{c_{1}\cos\frac{1}{2}\sqrt{4\mu - \lambda^{2}}\xi + c_{2}\sin\frac{1}{2}\sqrt{4\mu - \lambda^{2}}\xi} \right)^{2}, (32)$$

where 
$$\xi = x - (\frac{a}{1 + h(\lambda^2 - 4u)})t$$
.

$$u_4(\xi) = -\frac{ba(4\mu - \lambda^2)}{-1 + b(4\mu - \lambda^2)} - \frac{3ba(4\mu - \lambda^2)}{-1 + b(4\mu - \lambda^2)} \left( \frac{-c_1 \sin \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi + c_2 \cos \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi}{c_1 \cos \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi + c_2 \sin \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi} \right)^2, (33)$$

where  $\xi = x + (\frac{a}{-1 + b(\lambda^2 - 4u)})t$ .

When  $\lambda^2 - 4\mu = 0$ ,

$$u_5(\xi) = \frac{12bac_2^2}{(c_1 + c_2\xi)^2},\tag{34}$$

where  $\xi = x - (\frac{a}{1 + b(\lambda^2 - 4\mu)})t$ . And

$$u_6(\xi) = \frac{12bac_2^2}{(c_1 + c_2 \xi)^2},\tag{35}$$

where  $\xi = x + (\frac{a}{-1 + b(\lambda^2 - 4u)})t$  and  $c_1$  and  $c_2$  are arbitrary constants.

In particular, if  $c_1 \neq 0$ ,  $c_2 = 0$ ,  $\lambda > 0$ ,  $\mu = 0$ , then  $u_1$  becomes

$$u_1(\xi) = \frac{-3ba\lambda^2}{1+b\lambda^2} + \frac{3ba\lambda^2}{1+b\lambda^2} (\tanh^2 \frac{\lambda \xi}{2}),$$
 (36)

and  $u_2$  becomes

$$u_2(\xi) = \frac{ba\lambda^2}{-1 + b\lambda^2} - \frac{3ba\lambda^2}{-1 + b\lambda^2} (\tanh^2 \frac{\lambda \xi}{2}). \tag{37}$$

Which are the solitary wave solutions of the BBM equation.

Comparing our results with Bekir's results [14] and results of [24] show that our results are more general. For instance for a=1, b=-1,  $c=\frac{-1}{3}$  and  $\lambda=2$  the solution (36) is the same as in ([24], p. 71) and for a=1, b=-1,  $c=\frac{1}{5}$  and  $\lambda=2$  the solution (37) is the same as in ([24], p. 71).

#### 4. CONCLUSIONS

In this paper, the use of the (G'/G) -expansion method is intyoduced by applying it to two nonlinear equations to illustrate the validity and advantages of the method. The exact traveling wave solutions being determined in this study are more general, and it is not difficult to arrive

at some known analytic solutions for certain choices of the parameters  $c_1$  and  $c_2$ . Compared with the methods used in [14-15, 22-24], one can see that the (G'/G) -expansion method is not only simple and straightforward, but also avoids tedious calculations. This verifies that the method can be used for many other nonlinear evolution equations.

#### REFERENCES

- [1] Vakhnenko VO, Parkes EJ, Morrison AJ, "A Bäcklund Transformation and the Inverse Scattering Transform Method for the Generalised Vakhnenko Equation", Chaos Soliton Fract 2003; 17:683-92.
- [2] Malfliet W., "Solitary Wave Solutions of Nonlinear Wave Equations", American Journal of Physics, 1992;60: 650-4.
- [3] Malfliet W, Hereman W, "The Tanh Method. I: Exact Solutions of Nonlinear Evolution and Wave Equations", *Physica Scripta*, 1996; **54**:563-8.
- [4] Wazwaz AM, "The Tanh Method for Traveling Wave Solutions of Nonlinear Equations", Appl Math Comput 2004: 154:713-23.
- [5] El-Wakil SA, Abdou MA, "New Exact Travelling Wave Solutions using Modified Extended Tanh-function Method", Chaos Soliton Fract, 2007; 31:840-52.
- [6] Fan E, "Extended Tanh-function Method and its Applications to Nonlinear Equations", Physics Letters A 2000; 277:212-8.
- [7] Wazwaz AM, "The Extended Tanh Method for Abundant Solitary Wave Solutions of Nonlinear Wave Equations", *Appl Math Comput*, 2007; **187**: 1131-42.
- [8] Wazwaz AM, "A Sine-cosine Method for Handling Nonlinear Wave Equations", Mathematical and Computer Modelling, 2004; 40:499-508.
- [9] Yusufoðlu, Bekir A., "Periodic and Solitary Wave Solutions of Kawahara and Modified Kawahara Equations by using Sine-Cosine Method", Chaos Soliton Fract, 2008; 37:1193-7.
- [10] Fan E, Zhang H, "A Note on the Homogeneous Balance Method", Physics Letters A, 1998; 246:403-6.
- [11] Wu XH, "Exp-function Method for Nonlinear Wave Equations", Chaos Soliton Fract, 2006; 30:700-8.
- [12] He JH, Abdou MA, "New Periodic Solutions for Nonlinear Evolution Equations using Exp-function Method", Chaos Soliton Fract, 2007; 34:1421-9.
- [13] El-Wakil SA, Abdou MA, "New Exact Travelling Wave Solutions of Two Nonlinear Physical Models", Nonlinear Analysis: Theory, Methods and Applications, 2008; 68:235-45.
- [14] Bekir A, "The Tanh-coth Method Combined with the Riccati Equation for Solving Nonlinear Equation", Chaos Soliton Fract, 2009; 40:1467-74.
- [15] Wazzan L, "A Modified Tanh-coth Method for Solving the General Burgers-Fisher and Kuramoto-Sivashinsky Equations", Commun Nonlinear Sci Numer Simulat, 2009; 14:2642-52.
- [16] Wang, Li X, Zhang J, "The (*G*'/*G*)-expansion Method and Traveling Wave Solutions of Nonlinear Evolution Equations in Mathematical Physics", *Phys Lett A*, 2008; **372** :417-23.
- [17] Bekir A, "Application of the (G'/G)-expansion Method for Nonlinear Evolution Equations", *Phys Lett A* 2008; **372**:3400-6.
- [18] Zhang J, Wei X, Lu Y, "A Generalized (G'/G)-expansion Method and its Applications", Phys Lett A 2008; 372:3653-8.
- [19] Conte R, "Exact Solutions of Nonlinear Partial Differential Equations by Singularity Analysis", Lecture Notes in Physics, Springer 2003: 183.
- [20] Rademacher J, Wattenberg R, "Viscous Shocks in the Destabilized Kuramoto-Sivashinsky", J Comput Nonlin Dynam. in Press.

- [21] Benjamin TB, Bona JL, Mahony JJ, "Model Equations for Long Waves in Nonlinear Dispersive Systems", Philos Trans R Soc London, Ser A 1972; 272: 47-78.
- [22] Peng YZ, "A Polynomial Expansion Method and New General Solitary Wave Solutions to KS Equation", Comm Theor Phys, 2003; 39:641-2.
- [23] Wazwaz AM, "New Solitary Wave Solutions to the Kuramoto-Sivashinsky and the Kawahara Equations", Appl Math Comput, 2006; 182:1642-50.
- [24] Zuntao F, Shikuo L, Shida L, Qiang Z, "The JEFE Method and Periodic Solutions of Two Kinds of Nonlinear Wave Equations", *Communications in Nonlinear Science and Numerical Simulation* 2003; **8**: 67-75.